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(finite) 2lio X 1 iy Kol 13lio dlaxi (51 29 oo A5 s DDl o S X
..l (countably finite) (1,lo.s) o lws LB L

o o i X Dol piie L) alid SO j0 00yl g, dlaws [

R.={0,1, 2, ...} te2d o GW R LI, X wdo o Sal wolie (range space) > gbad
P(x;) =P(X=X) e 0 i P(X) L1y Al b ol o pilo jlade aS0) Jloda! O
WS Ge p bl pubi=1, 2, . gl p(x)

1. p(x;,)=0, for all i
2. > plx,)=1

Sl @iy =L 2, e X, pOY)] e ke asgeme
Swial e &b p(x) & ¢ (probability  distribution)
Sgud 0 w85 X Solai e (pmi: probability mass function)
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syntax && aolip ¥ Syntax && I/0 4l p # 0ther 4ol
2 Jolds aoli g S o 1/0 && other Joli asliyw ¥ other
bl (o s g o)

s g5 s L 9 1/0 L syntax slhs Jolds 4ol p 4ol Jloss!
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Foisls acisls Uas aols p aSs | Jlocs!
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Pla<X<b)= J f(x)dx f(x) 4

X =4 x=>b X
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RY
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hoogas B
1. P(X =x,)=0, because ~[l\.of(x)a’,\:o
2 Plas X <h)y=Pla< X Eh)=Plas X <b)=Pla<x X <b)
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X &l o SO (cumulative distribution function (cdf)) xood 2o U =
Dgw 0 B 2T 5 O yg0ds g 0dwe 0310 HLGF L F(X) L
1 F(x)=F,=P(X <=x)
F(X)=Y p(X)  :ailb awns X 51 O

all

Feo=[ fodr  #&mX 50
= Bluogas =
1. F i1s nondecreasing function : If a < b, then F'(a) < F(b)
2. bm . Fx)j=1
3.Im__, _ F(x)=0

e gl e Gl o8l LB edf o w X)L 0 Jlis] iy dor B
Pla< X <b)y=F(b)-F(a), forall a<b
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F(x) :Ej.o e “dt=1-e

TGl yaia WS jos Jlw 93 51 JeS ol&wd (! aSSo) Jlods!
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shaely 8 cwl sb, o0 & i(random variable) Jolai pxe m
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Sl gy 5 b S by Ll ey Gy Sl Sl
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-0 - R,
slas S Ry o (probability space) Jlas! slas 6 Q (ool pine SX ) o oS
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:..\.u.’l.! MRA' )5' [
m p(x;) = probability X'is x; = P(X = x;) 1s called pmf (_J.=! » 5 ~b)
m [x, p(x)] 1s called discrete probability distribution
taly dlwgu Ry ,S1 O
b . ‘
mp(x) =Pla<X<bh)= f f(x)dx 1scalled pdf ( Jus! JE&s &b)
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1S oo GG Ry polis 40 1, Q x T gam ¢ sLad polie X ol aiulyd asi ,» O
X: Q‘T—>R‘\'

il dlwgm b diwund Xilgs o0 a5 390 o0 45 (time parameter) ol Jol,Lta O
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el Al b dlwun Wilgd o0 9 350 00 2313
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P(ANB)
B) > 0
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8L GU5T g31as ) alold i 55 Ayl Jlads ! cas oS5 a5 )3 1, [0, t] Glo; alold 51
P{N(t)=0} = eM(3.t)%/0! = e

| I |
0t Al A2

e cb'.\.&-) Oyl A2 s)'.\i; &:’9' Al

i g 2 350 Jge S
P{Al>t} = P{N(t)=0}
ivtye) Cowds t 31 8 1, AL 313, Jlais! auilys 0 Jlo
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0 AlA2 ¢
1o Sl 23 F,t 51 L3 AL Blas Oy 0!y
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Sl A F P b ol aoie b Al Slas, Jlia) a5 and 0 Wi g Sl ol &390 CDF o5
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PRI ) g5 laslad ) lasi Byme i e N2(1) 9 NI() & 28 (5,8 Jb O

'p Al e 3la51 [0, t]

A N(®) = N1(t) + N2(t) :Cuils panlgd Oyao 0l )3 O
' »(1-p)

g AP SLEy U oluly sbasl,d o N2(t) o N1(1) & 3l LS 4lsi o0 Oyge ol 3 O
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392 adlgd 413 O g0 Qi 2l el g O

0

E[X]= _[\f(v)d\ _Jﬂxe'hd\ = _xe | +I e dx _/11
- ol pwilyly g O
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